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Sub questions

Question Number : 1 Question Id : 68634018838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SSERit ke oo RS
1. 39 fgd & g vdeg vig
2. 3N P Rd & forg wqdur vig
3. URGR & g §H4u Yig
1. TR A o & g wwdor amg

Options :

68634074401. 1
68634074402. 2
68634074403. 3
68634074404. 4

Question Number : 2 Question Id : 68634018839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR SAaRUl &1 3rad YN 5
1. IRATar-ud
. Hdigd &1 41
RSN
IRCIGERNGE]
Options :
68634074405. 1
68634074406. 2

68634074407. 3
68634074408. 4

[

L]

Question Number : 3 Question Id : 68634018840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Od® &1 [ddd § -

1. g0
U]
. qq

4. Siifdd

| )

L]

Options :

68634074409. 1
68634074410. 2
68634074411. 3
68634074412. 4

Question Number : 4 Question Id : 68634018841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Wil U Wi 9g B bl Bl 82
1. QAT 1
 HIqYfT Bl
RENNIET]

| )

[#5]

=

IR T 5l

Options :



68634074413. 1
68634074414. 2
68634074415. 3
68634074416. 4

Question Number : 5 Question Id : 68634018842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad s/ &1 yge 4T Y a1egf &1 HHFTYR gy

A, TSR 55T B U WIaT §

B. o S o1 Sty B

C. Ol Pt 7 bl SR A I FRIE S

D. Y1 TREAT 3R droril ¥ &= % TSI T Bl
E. %191 & gRI 81 SiiaT gauT 78 &dl &

A feu 7Y fawedt 7 ¥ Uel ST o1 907 S -

1.C,A.B, D, E

[ ]

AR DUE
3.B.A.D.C.E
4. D, E.A B, C

Options :

68634074417. 1
68634074418. 2
68634074419. 3
68634074420. 4

Question Id : 68634018837 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 68634018838 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SSERit ke oo RS
1. 39 fgd & g vdeg vig
2. 3N P Rd & forg wqdur vig
3. URGR & g §H4u Yig
1. TR A o & g wwdor amg

Options :

68634074401. 1
68634074402. 2
68634074403. 3
68634074404. 4

Question Number : 2 Question Id : 68634018839 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR SAaRUl &1 3rad YN 5
1. IRATar-ud
. Hdigd &1 41
RSN
IRCIGERNGE]
Options :
68634074405. 1
68634074406. 2

68634074407. 3
68634074408. 4

[

L]

Question Number : 3 Question Id : 68634018840 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Od® &1 [ddd § -

1. g0
U]
. qq

4. Siifdd

| )

L]

Options :

68634074409. 1
68634074410. 2
68634074411. 3
68634074412. 4

Question Number : 4 Question Id : 68634018841 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Wil U Wi 9g B bl Bl 82
1. QAT 1
 HIqYfT Bl
RENNIET]

| )

[#5]

=

IR T 5l

Options :



68634074413. 1
68634074414. 2
68634074415. 3
68634074416. 4

Question Number : 5 Question Id : 68634018842 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafeiad s/ &1 yge 4T Y a1egf &1 HHFTYR gy

A, TSR 55T B U WIaT §

B. o S o1 Sty B

C. Ol Pt 7 bl SR A I FRIE S

D. Y1 TREAT 3R droril ¥ &= % TSI T Bl
E. %191 & gRI 81 SiiaT gauT 78 &dl &

A feu 7Y fawedt 7 ¥ Uel ST o1 907 S -

1.C,A.B, D, E

[ ]

AR DUE
3.B.A.D.C.E
4. D, E.A B, C

Options :

68634074417. 1
68634074418. 2
68634074419. 3
68634074420. 4

Sub-Section Number : 2
Sub-Section Id : 686340624
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634018843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- Y B YaT 4 fpga fae glare 2

. {14 &I AFdd B

—

| )

A AR ST g P
. G Bl
4. 51 3R Y PT

[#%]

Options :



68634074421. 1
68634074422. 2
68634074423. 3
68634074424. 4

Question Number : 6 Question Id : 68634018843 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- Y B YaT 4 fpga fae glare 2

1. ATFd @I AFTAl ®I

| )

A AR ST g P
3. G Bl
39 SR A &

=

Options :

68634074421. 1
68634074422. 2
68634074423. 3
68634074424. 4

Question Number : 7 Question Id : 68634018844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FafcEd o ga-ea &1 S1aRa® U 61 ¢ -

A 3exg
B. Odl

C. AdpHdgdl
D. Hevid
E. Il

[al

= fu e fdaredl | O Ul 3R &1 944 Sl

1. $ad B
2.%ad C
3. BAd A
4. %Ad D

Options :

68634074425. 1

68634074426. 2

68634074427. 3
68634074428. 4




Question Number : 7 Question Id : 68634018844 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[afeREad o uA-cig= &1 31awae® 0 6l ¢ -

A 3exg
B. Odl

C. AdpHdgdl
D. Hevid
E. Il

[al

= fu e fdaredl | O Ul 3R &1 944 Sl

1. $ad B
2.%ad C
3. BAd A
4. %Ad D

Options :

68634074425. 1

68634074426. 2

68634074427. 3
68634074428. 4

Question Number : 8 Question Id : 68634018845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
%A1 BIEE] S8HI & AU Uel dlobliad g -
1. 3 & ¢ IR fahH I
2. 3 & T, el & &M
3. 0% 3[R, 91 1R
4. 71 3R Yo-do

Options :

68634074429. 1
68634074430. 2
68634074431. 3
68634074432. 4

Question Number : 8 Question Id : 68634018845 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
%A1 BIEE] S8HI & AU Uel dlobliad g -
1. 3 & ¢ IR fahH I
2. HTH & HTH, Toferdl & gH
3. 0% 3[R, 91 1R
4. 71 3R Yo-do

Options :

68634074429. 1
68634074430. 2
68634074431. 3
68634074432. 4

Question Number : 9 Question Id : 68634018846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafea 5 9 sHYRyT 999 HT 360 6 & ;

p i

Options :

68634074433. 1
68634074434. 2
68634074435. 3
68634074436. 4

Question Number : 9 Question Id : 68634018846 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafafad § ¥ YRy 999 &1 3SR el © ;

p i



Options :

68634074433. 1
68634074434.2
68634074435. 3
68634074436. 4

Question Number : 10 Question Id : 68634018847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
féd. Herufd Hiax am|
Had Hid gHd gad ||
SRl Ufkiail H PR © :

1. SIUH STBHR

2. QH® AHABR

3 3 ;
@ :

Options :

68634074437. 1

68634074438. 2

68634074439. 3
68634074440. 4

Question Number : 10 Question Id : 68634018847 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hfed, Aedfd AR m|
dad Gidd god g | |
SRl ufgasi ¥ SeieR © -

1. I HEDHR

2. UH® DR

3. 909 PR
" .

Options :

68634074437. 1
68634074438. 2
68634074439. 3



68634074440. 4

Question Number : 11 Question Id : 68634018848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 AP qUT 5 TSIDU U Brd B 8 1 F T HR ADhd § | 7 A5 50 H1d ol 4 faAT & A %
IoHd & | B oI 38l &4 § gura $34 & for fooa- asfadl ©f sravgsdr g

1. 940

|

. 280
3. 560
4.412

Options :

68634074441. 1
68634074442. 2
68634074443. 3
68634074444, 4

Question Number : 11 Question Id : 68634018848 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 AP qUT 5 TSIDU U Brd B 8 1 F T HR ADhd § | 7 A5 50 H1d ol 4 faAT & A %
IoHd & | B oI 38l &4 § gura $34 & for fooa- asfadl ©f sravgsdr g

1. 940

|

. 280
3. 560
4.412

Options :

68634074441. 1
68634074442. 2
68634074443. 3
68634074444. 4

Question Number : 12 Question Id : 68634018849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



156 %3640% G|

i | oo

1.152.6

| )

. 76.8

4. 54.63

Options :

68634074445. 1
68634074446. 2
68634074447. 3
68634074448. 4

Question Number : 12 Question Id : 68634018849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

156 % 18 % 40% @15 = ?
39 g
1.152.6
2.76.8
3.384
4.54.63
Options :

68634074445. 1
68634074446. 2
68634074447. 3
68634074448. 4

Question Number : 13 Question Id : 68634018850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&R ISR TS5 &1 895 92 1 m? BLal t FTAFG :

4, 22m

Options :

68634074449. 1
68634074450. 2
68634074451. 3
68634074452. 4

Question Number : 13 Question Id : 68634018850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y& RId JAIBR TS5 &1 840 92 xm? GLal ¢ PIAF G :

4. 22m

Options :

68634074449. 1
68634074450. 2
68634074451. 3
68634074452. 4



Question Number : 14 Question Id : 68634018851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

108% 104" _
325 R

1.3.26

| ]

.3-29
3.3.53
4.3.62

Options :

68634074453. 1
68634074454. 2
68634074455. 3
68634074456. 4

Question Number : 14 Question Id : 68634018851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

108° —104° _ ;
32° - 28’

1.3.26

| ]

.3-29
3.3.53
4.3.62

Options :

68634074453. 1
68634074454. 2
68634074455. 3
68634074456. 4

Question Number : 15 Question Id : 68634018852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 g goft 1.2.3.5.7 & YYT 50 UG BT AT &

[
L
=

4. 100

Options :

68634074457. 1
68634074458. 2
68634074459. 3
68634074460. 4

Question Number : 15 Question Id : 68634018852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g guft 1.2.3.5.7 FUYF 50 UG BT 3

1.45

b2
L]
=

4. 100

Options :

68634074457. 1
68634074458. 2
68634074459. 3
68634074460. 4

Question Number : 16 Question Id : 68634018853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t 1S g & srTelt T o It st 2

27,64, 125, 216, 343,

1.416

[ ]
L]
—
| )

3. 686
4, 559

Options :



68634074461. 1
68634074462. 2
68634074463. 3
68634074464. 4

Question Number : 16 Question Id : 68634018853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3t 1S g & srTelt T o It st 2

27,64, 125, 216, 343,

1.416

[ ]
L]
—
| )

3. 686
4, 559

Options :

68634074461. 1
68634074462. 2
68634074463. 3
68634074464. 4

Question Number : 17 Question Id : 68634018854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy . e O 9 5y fSew ¥ saffda g -

vy =

[

Options :

68634074465. 1
68634074466. 2
68634074467. 3
68634074468. 4

Question Number : 17 Question Id : 68634018854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy . e O 9 5y fSew ¥ saffda g -

vy =

2

(%]

Options :

68634074465. 1
68634074466. 2
68634074467. 3
68634074468. 4

Question Number : 18 Question Id : 68634018855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BLOCKED &1 §1a¥ YOLXPVW ¥ §. 81% 33! HBR OZFMXS BT Ta=] A BI |
1. LAUNCH
2. DEBATE
3. RESULT

4. LABOUR

Options :

68634074469. 1
68634074470. 2
68634074471. 3
68634074472. 4



Question Number : 18 Question Id : 68634018855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BLOCKED ] Y YOLXPVW ¥ B, 319 I UPR OZFMXS BT Tra BT |

1. LAUNCH

|

. DEBATE
3. RESULT
4. LABOUR
Options :
68634074469. 1
68634074470. 2

68634074471. 3
68634074472. 4

Question Number : 19 Question Id : 68634018856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH ASH| B SR SR Hd GU 3G - gl "U8 ASHI UL [Udl &I Ueald! S &1 Gl §1" 3195 I
Tdl & 1Y 3 do ! &l ol 95w § 2

LA
Tl
3T

4. dg-

[

L]

Options :

68634074473. 1
68634074474. 2
68634074475. 3
68634074476. 4

Question Number : 19 Question Id : 68634018856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UF TSP B AR SR T §U 3G - BT "T8 TSB! 1 U] & UHald! S B Gl g1 315 B
Ul & 1Y 39 To®! &1 ol GrEH € 2

el

2. HIdT
. 37et

4. dg-

L]

Options :

68634074473. 1
68634074474. 2
68634074475. 3
68634074476. 4

Question Number : 20 Question Id : 68634018857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AB.C.D.E.F 3R G U% Wgad URAR & Id ¥a ¢ | 3T 70 916 & YR W 10 SIWE 6 B FTE
& 1Y T IR 8 2

A. U IRGR 7 g farfed dudt &

B. G U TJiguil § 3R 39 Uid abid §

C.BHIUdl C 8. AT AT IR G DI UG T |

D.D. C & TR, TF SIaex 3R E &1 fUdl. 1@ MR §
EFPIHRATIRBBITAS

A fau U fom eyl O 9 T8l 3R &1 99 iy ;

1. dg
2. 3Ppd
3. i
4,41

Options :

68634074477. 1
68634074478. 2
68634074479. 3
68634074480. 4

Question Number : 20 Question Id : 68634018857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AB.C.D.E.F 3R G U% Wgad URAR & Id ¥a ¢ | 3T 70 916 & YR W 10 SIWE 6 B FTE
& 1Y T IR 8 2

A. U IRGR 7 g farfed dudt &

B. G U TJigUfl § 3fR 39 Uid 9dbid ©

C.BHI Ul C 8. AT AMEAI R G DI O g |

D. D. C & TR, TP SIex 3R E F1 fUdl, T W §
EFPIUEATIRBIIHES

i faU 77U faw eyl O 9 T8l ST &1 99 By ;

1.dg
2. bl
S.QEEH:
4. UTS
Options :
68634074477. 1
68634074478. 2

68634074479. 3
68634074480. 4

Question Number : 21 Question Id : 68634018858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T [P Slfa- aTel WyH YR S 82
1. Hio dfo T
o &
I 1Y R
SRR gty
Options :
68634074481. 1
68634074482. 2

68634074483. 3
68634074484. 4

[

L]

=S

Question Number : 21 Question Id : 68634018858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T [P Slfa- aTel WyH YR S 82
1. Hfo dlo I07

A 89

e Y SR

 HEER gemitEy

Options :

68634074481. 1

68634074482. 2

68634074483. 3
68634074484. 4

[

L]

=S

Question Number : 22 Question Id : 68634018859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1960 H OPEC TRI1US o] & UgdH BHIfuig ;

A PR

B. 5

C. X®

D. $ad

E. U&hdl 3Rd
F. d-Io[udl

= fau U faaredl | O Ul 3R &1 994 Sl

1. $AAB.C.D.ETF
2. PAAA.B.C.DTE
3. $ddA.B.D.EQF

4. PAAA.C.D.ETF

Options :

68634074485. 1
68634074486. 2
68634074487. 3
68634074488. 4

Question Number : 22 Question Id : 68634018859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1960 H OPEC TRI1US o] & UgdH BHIfuig ;

A PR

B. 33

C. X®

D. $ad

E. O&hal 3RE
F. a-To[Uel

e fou v gt § 9 981 9k &1 997 Sifer -

1. $adB.C.D.ETF
2. AT A.B.C.DTE
3. Pd0A.B.D.ETF
4. HAAA.C.D.ETF

Options :

68634074485. 1

68634074486. 2

68634074487. 3
68634074488. 4

Question Number : 23 Question Id : 68634018860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FHAIUNE TE ST °
1. dgaRT g &I
 damg
Qe

4. 1YY

| )

L

Options :

68634074489. 1
68634074490. 2
68634074491. 3
68634074492. 4

Question Number : 23 Question Id : 68634018860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B W IUAYE GG Y TS § 2
1. SEERT A1 51

dang

T

4. 1Y

[

L]

Options :

68634074489. 1
68634074490. 2
68634074491. 3
68634074492. 4

Question Number : 24 Question Id : 68634018861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIeR 1 R fooan man g -
1. %fires faare &1 wmsil, FHare ok sramal & & wE dare
fafie smigl SR 98 =il & di faaral o1 gogiidl
3. 50 1 AETHRYL, Syl BUTHR off +ft a1 (vIga) &
4. TF Y & AR 15 &1 b

[ )

Options :

68634074493. 1
68634074494. 2
68634074495. 3
68634074496. 4

Question Number : 24 Question Id : 68634018861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR D1 GRUI foar mar g -
1. e faaTe 1 i, Faie SR Sran & &9 ®F ddl e
falim gl 3R 98 Tl & 49 [are! &1 w5
3. Y HT @SN, 31yl HUHR S o a0 (vgw) &
4. TP S & AR 8F &1 G

| )

Options :



68634074493. 1
68634074494. 2
68634074495. 3
68634074496. 4

Question Number : 25 Question Id : 68634018862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2023 DI 79 H 9 by sFaRiyla a¥ & U & FEI S E1 6 2
1, 9154 W
HIET 3T
gl =
4. ad faor
Options :
68634074497. 1
68634074498. 2

68634074499. 3
68634074500. 4

| )

[#5]

Question Number : 25 Question Id : 68634018862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ay 2023 DI 79 H 9 by sFaRiyla a¥ & U & FEI S E1 6 2
1, 9154 W
HIET 3T
gl =
4. ad faor
Options :
68634074497. 1
68634074498. 2

68634074499. 3
68634074500. 4

| )

[#5]

Part B: Philosophy

Section Id : 686340374
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340625
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634018863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The main propounder of Samkhya Philosophy 1s

1. Gautam
2. Kapila
3. Gangesh
4. Kanad

Options :

68634074501. 1

68634074502. 2

68634074503. 3
68634074504. 4

Question Number : 26 Question Id : 68634018863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g% & T8 UiIee 8
1. TaH

Hfud

T

4. UM

[

L]

Options :

68634074501. 1
68634074502. 2
68634074503. 3
68634074504. 4

Question Number : 27 Question Id : 68634018864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which symbol represents particular negative proposition according to traditional division of proposition?

1.0

[

2B
3.A
4.1

Options :

68634074505. 1
68634074506. 2
68634074507. 3
68634074508. 4

Question Number : 27 Question Id : 68634018864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GG o URURITG [GUTSH o SHER Fafalad O 3 &H 91 Wdle sizrordt (fqRiy) Huerate wldgi
I WA Bl 67

1.0

2. B

3.A

4.1
Options :
68634074505. 1
68634074506. 2

68634074507. 3
68634074508. 4

Question Number : 28 Question Id : 68634018865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not associated with Gandhi?

1. Satyagraha

[ )

. Ahimsa
3. Bhoodan
4. Swaraj

Options :
68634074509. 1



68634074510. 2
68634074511. 3
68634074512. 4

Question Number : 28 Question Id : 68634018865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FrafeiEd & 9 &9 91 70 9 ¥aS ol 82
1. Hdg
g

4. W

[

L]

Options :

68634074509. 1
68634074510. 2
68634074511. 3
68634074512. 4

Question Number : 29 Question Id : 68634018866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which philosopher in his discourse on the origin of inequality, drew an important distinction between the two
types of inequalities found in social life: Natural and Conventional

1. Locke

2. Rousseau
3. Mill

4. Sartre

Options :

68634074513. 1
68634074514. 2
68634074515. 3
68634074516. 4

Question Number : 29 Question Id : 68634018866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafeied o ¥ o amiFe 3 s $f Iaii dad s famsl &, s siias § orit o1 arel
SR GUT-ARHE SR T, & §fa Aew@yu Ug ¥@ifda aear um

LY

1. ¢l
=l
AEL
4. ![ _-i
Options :
68634074513. 1
68634074514. 2

68634074515. 3
68634074516. 4

[

L]

Question Number : 30 Question Id : 68634018867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Nirvana is the ultimate culmination of life according to
1. Jainism
2. Buddhism
3. Sikhism
4, Hinduism
Options :
68634074517. 1
68634074518. 2

68634074519. 3
68634074520. 4

Question Number : 30 Question Id : 68634018867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fafafad I 9 f9d SER Haiu diad &1 Ry siae g2
1. S Td
AigHd

| )

3
;

Options :



68634074517. 1
68634074518. 2
68634074519. 3
68634074520. 4

Question Number : 31 Question Id : 68634018868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is not a Vedic Text?

1. Upamisad

[ B

. VinayPitak

L]

. Brahmana

4. Vedanta

Options :

68634074521. 1
68634074522. 2
68634074523. 3
68634074524. 4

Question Number : 31 Question Id : 68634018868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafad ¥ 9 & 91 afe® 99 7ol 52
1. 3UHNg
foaites

[ ]

L]

. SITeIUT
4. dgid

Options :

68634074521. 1
68634074522. 2
68634074523. 3
68634074524. 4

Question Number : 32 Question Id : 68634018869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who amongst the following is not a phenomenologist?

1. Schultz

[ ]

. Heidegger
3. Husserl
4. Wittgenstein

Options :

68634074525. 1
68634074526. 2
68634074527. 3
68634074528. 4

Question Number : 32 Question Id : 68634018869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafad o 9 o dgfumr 78 82
1. fecsl
TSR
g
4. faen=erEa

Options :

68634074525. 1
68634074526. 2
68634074527. 3
68634074528. 4

| )

5]

Question Number : 33 Question Id : 68634018870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which among the following does not belong to Empiricism?

1. John Locke

| B

. Spinoza
3. Berkeley
4. David Hume

Options :
68634074529. 1



68634074530. 2
68634074531.3
68634074532. 4

Question Number : 33 Question Id : 68634018870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafafaa & 9 & eryaars 9 geftd T8l 82
1. Gl il
. Feg
ghad
SfasggH

[ ]

L]

e

Options :

68634074529. 1
68634074530. 2
68634074531. 3
68634074532. 4

Question Number : 34 Question Id : 68634018871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The law that asserts that 'if any statement 1s true then 1t 1s true' is

1. Law of noncontradiction
2. Law of excluded middle
3. Law of identity
4. Law of gravity

Options :

68634074533. 1

68634074534. 2

68634074535. 3
68634074536. 4

Question Number : 34 Question Id : 68634018871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



dg Fua Sl gg ST par & f i o8 ST I a2 Al Jg YU BT & 98 &
1. ogmgral g
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Options :

68634074533. 1
68634074534. 2
68634074535. 3
68634074536. 4

L]

e

Question Number : 35 Question Id : 68634018872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Some humans are mortal' is

1. Universal affirmative

[ ]

. Universal negative
3. Particular affirmative
4. Particular negative
Options :
68634074537. 1
68634074538. 2

68634074539. 3
68634074540. 4

Question Number : 35 Question Id : 68634018872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
D O A4 ©' U8 DU ©:
1. qufeTdt HTaTeS
2. guieTdt FuYTHS
3. 3Tl Yrdréls
4. 3iRreTdl FuYETS

Options :



68634074537. 1
68634074538. 2
68634074539. 3
68634074540. 4

Question Number : 36 Question Id : 68634018873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who propounded Dialectical Materialism?

1. Karl Marx

[ )

. Plato

3. Locke

4, Descartes

Options :

68634074541. 1
68634074542. 2
68634074543. 3
68634074544, 4

Question Number : 36 Question Id : 68634018873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Galdd Hifideae & ufdues &iH 82

1. Tl AIad
el

1

AP
4. SHE

Options :

68634074541. 1
68634074542. 2
68634074543. 3
68634074544. 4

| )

[#5]

Question Number : 37 Question Id : 68634018874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A form of organization in which a small groups of the chosen few (based on wealth and land ownership)
makes all decisions. largely in its own interest. This group is called

1. Monarchy

| ]

. Oligarchy
3. Anarchy
4. Aristocracy

Options :

68634074545. 1
68634074546. 2
68634074547. 3
68634074548. 4

Question Number : 37 Question Id : 68634018874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT 31 U U o8 $ 94 gU arl. Jea: 0 fea §. 94t ol od €1 98 99g seanars:

4 2

2. polldA
3. 3RISIhdd
4, ST

Options :

68634074545. 1
68634074546. 2
68634074547. 3
68634074548. 4

Question Number : 38 Question Id : 68634018875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ideals which are associated with French Revolution are

fa—y

. Liberty. Equality. Fraternity

| B

. Justice, Equality. Socialism

LY ]

. Justice, Friendship. Brotherhood
4. Peace. Non violence, Truth

Options :



68634074549. 1
68634074550. 2
68634074551. 3
68634074552. 4

Question Number : 38 Question Id : 68634018875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B wifd O Jdg e s I 52

1. WA, AL 9

| )

(5]

=

Options :

68634074549. 1
68634074550. 2
68634074551. 3
68634074552. 4

Question Number : 39 Question Id : 68634018876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Utilitarianism can be associated with

1. 'The greatest happiness of the greatest number’

(B

. 'The greatest success of the greatest number’
3. 'Peace for all'
4, Liberty for all'

Options :

68634074553. 1
68634074554. 2
68634074555. 3
68634074556. 4

Question Number : 39 Question Id : 68634018876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634074553. 1
68634074554. 2
68634074555. 3
68634074556. 4

Question Number : 40 Question Id : 68634018877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

'Tustice 1s the first virtue of a good society’ is said by

1. Wittgenstein

[ )

. John Rawls
3. Hume

4. Thales

Options :

68634074557. 1
68634074558. 2
68634074559. 3
68634074560. 4

Question Number : 40 Question Id : 68634018877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 3w HIS D] Ga9yH 9310 5. ¥s Sy Hafafad o 3 feuer g?
1. aajlr_\‘flﬂ:i

LY} W

U1 RIS

| ]
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4. 9]

Options :
68634074557. 1



68634074558. 2
68634074559. 3
68634074560. 4

Question Number : 41 Question Id : 68634018878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
'Euthanasia’ means
1. Death by choice
2. Death by State
3. Death by hunger
4. Death by disease
Options :
68634074561. 1
68634074562. 2

68634074563. 3
68634074564. 4

Question Number : 41 Question Id : 68634018878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g (U-REET) o1 3
1, 909 gRT A

| ]

T EFRIEG

- HE aRTHY
FTERITY

[#5]

=

Options :

68634074561. 1
68634074562. 2
68634074563. 3
68634074564. 4

Question Number : 42 Question Id : 68634018879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"Where the mind is without fear and the head is held high. where knowledge 1s free where the world has not
been broken up into fragments” is written by

1. Amartya Sen
2. Mahashweta Devi
3. Arundhati Roy

4. Rabindra Nath Tagore

Options :

68634074565. 1
68634074566. 2
68634074567. 3
68634074568. 4

Question Number : 42 Question Id : 68634018879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"GTel {4 11 §1a1 § 9U1 550@ 391 81d1 . 58l 917 [F:X[e® gidl 5. oiel 194 WSl (CPhoh) H [auad 75!
gl.." 78 fPud gri e ma 6

1. 3

2. HETHT &l
3. 3%yfd 31

4. TEIZATY TR

Options :

68634074565. 1
68634074566. 2
68634074567. 3
68634074568. 4

Question Number : 43 Question Id : 68634018880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The notion of Jiva in Jainism corresponds with

1. Living being

[ ]

. Atman or Puruszha

L]

. Animal being

4. Human being



Options :

68634074569. 1
68634074570. 2
68634074571. 3
68634074572 4

Question Number : 43 Question Id : 68634018880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o 04 § offd Bt YR (Fdhea) & FafaiEd 5 @ fEud gy arw g
1. oilg

| )

AT TN =Y

R

4. Hi-d

[FN]

Options :

68634074569. 1
68634074570. 2
68634074571. 3
68634074572. 4

Question Number : 44 Question Id : 68634018881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Locke. an object has

1. Primary and Secondary qualities

2

. Spirit and form

LFS]

. Utility and Feasability
4. Perception and reality

Options :

68634074573. 1
68634074574. 2
68634074575. 3
68634074576. 4

Question Number : 44 Question Id : 68634018881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634074573. 1
68634074574. 2
68634074575. 3
68634074576. 4

Question Number : 45 Question Id : 68634018882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The author of Nicomachean Ethics is

1. Aristotle

[ )

. Paul Ricoeur
3. Kant
4. Hume
Options :
68634074577. 1
68634074578. 2

68634074579. 3
68634074580. 4

Question Number : 45 Question Id : 68634018882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fefea ey & dus o g2
1. SRE,
2. 0id RpaR
3. P

4. |94

Options :



68634074577. 1
68634074578. 2
68634074579. 3
68634074580. 4

Question Number : 46 Question Id : 68634018883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Anckantavada or the doctrine of manyness of reality 1s associated with

1. Buddhism
2. Jainism
3. Sikhism
4. Nyaya

Options :

68634074581. 1

68634074582. 2

68634074583. 3
68634074584. 4

Question Number : 46 Question Id : 68634018883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3Ipidars a1 U 1 ofiedl 1 [sid Fafdfad 3 3 el dea 82

1. 9l Jd
2. S T
3. P wd
4. 41

Options :

68634074581. 1

68634074582.2

68634074583. 3
68634074584. 4

Question Number : 47 Question Id : 68634018884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to which Indian School. perception (Pratyaksa) is the only means of valid knowledge

1. Jaimism

b2

. Buddhizm

L¥ 5]

. Charvaka
4. Nyaya
Options :
68634074585 1
68634074586. 2

68634074587. 3
68634074588. 4

Question Number : 47 Question Id : 68634018884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFrafeiad o ¥ {69 YR 00 & SF9R UdE 81 98 17 &1 Udb O7 9ied g2
1.9 Od
digTd
Tdid

4. 419

| )

(5]

Options :

68634074585. 1
68634074586. 2
68634074587. 3
68634074588. 4

Question Number : 48 Question Id : 68634018885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Apriori knowledge 1s

1. Gained before experience

2

. Gained after experience
3. Hereditary
4, Evolves with reason

Options :
68634074589. 1



68634074590. 2
68634074591. 3
68634074592. 4

Question Number : 48 Question Id : 68634018885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RIS I ©:
34 g4 U 314

a—y

[

. 3FHG 9T YT [
I ST &
4. 9% & 9y aeRya gare

L]

Options :

68634074589. 1
68634074590. 2
68634074591. 3
68634074592. 4

Question Number : 49 Question Id : 68634018886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a valid method of knowledge according to Nyaya philosophy

1. Anumana

| B

. Upamana

LIF¥]

. Anuplabdhi
4. Pratyaksha

Options :

68634074593. 1
68634074594. 2
68634074595. 3
68634074596. 4

Question Number : 49 Question Id : 68634018886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634074593. 1
68634074594. 2
68634074595. 3
68634074596. 4

Question Number : 50 Question Id : 68634018887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the metaphysics of Purva Mimamsa 'consciousness’

1. i3 the essence of the soul

| B

. 18 excluded from the essence of the soul

Lad

. 18 1ll-defined

4. is not the essence of the soul
Options :
68634074597. 1
68634074598. 2

68634074599. 3
68634074600. 4

Question Number : 50 Question Id : 68634018887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ud W1 1 o Wi =
1. ST BT IR &
T & R I gariid &
gafefid T8 E

4. THT BT IR el &

| )

L

Options :
68634074597. 1



68634074598. 2
68634074599. 3
68634074600. 4

Question Number : 51 Question Id : 68634018888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
"Do it because it 18 your Duty to do it". This statement can be attributed to which of the following thinkers?
1. Spinoza
2. Hegel
3. Immanuel Kant
4.J.8. Mill
Options :
68634074601. 1
68634074602. 2

68634074603. 3
68634074604. 4

Question Number : 51 Question Id : 68634018888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= H Fifh 58 BT IS Sddd o 59 By 1 97 FHgfafag Ras & 3 fHa e
1. fagTen
2. BT
3. ®ic

4. 909 49

Options :

68634074601. 1
68634074602. 2
68634074603. 3
68634074604. 4

Question Number : 52 Question Id : 68634018889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is not referred as Purushartha?

1. Dharma

[ ]

. Agth
3. Kama

4. Lobha

Options :

68634074605. 1
68634074606. 2
68634074607. 3
68634074608. 4

Question Number : 52 Question Id : 68634018889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafefad o ¥ ol g &g S g2
1. o1
3y
3.9M
4.7Y

Options :

68634074605. 1
68634074606. 2
68634074607. 3
68634074608. 4

| )

Question Number : 53 Question Id : 68634018890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not a part of the teachings of Gita?

1. Karma Yoga

[ )

. Bhakti Yoga
3. Inana Yoga
4. Raj Yoga

Options :
68634074609. 1



68634074610. 2
68634074611. 3
68634074612. 4

Question Number : 53 Question Id : 68634018890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tt & Suex | Fafeied # 9 ®F 9 i g2

1. HHIAN

- HfaT ar

AT

a9l

Options :

68634074609. 1

68634074610. 2

68634074611. 3
68634074612. 4

[ ]

L]

=S

Question Number : 54 Question Id : 68634018891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The book Utilitarianism was written by?

1. Immanuel Kant

| B

. James Mill
3. Jeremy Bentham

4. JTahn Stuart Mill

Options :

68634074613. 1
68634074614. 2
68634074615. 3
68634074616. 4

Question Number : 54 Question Id : 68634018891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e RUFTT g5 &1 oa- foa faar
1. SAMUA Bl
2. o g i
3. SRE g
4. S gare e

Options :

68634074613. 1
68634074614. 2
68634074615. 3
68634074616. 4

Question Number : 55 Question Id : 68634018892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A method of identifying a causal of an effect by 1solating that portion of the effect not explained by known
caused relationship is known as

1. Method of concomitant variations
2. Method of Difference
3. Method of Agreement

4, Method of Residues

Options :

68634074617. 1
68634074618. 2
68634074619. 3
68634074620. 4

Question Number : 55 Question Id : 68634018892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634074617. 1
68634074618. 2
68634074619. 3
68634074620. 4

Question Number : 56 Question Id : 68634018893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which among the following statements is true of the Nisista-Advaita philosophy?
1. Brahman and Jiva are identical
2. Brahman and Jiva are opposed to one another
3. Brahman and Jiva are not identical, but the latter 1s the product of the playfulness of maya of the former
4. Jiva is the material product of the Brahman
Options :
68634074621. 1
68634074622. 2

68634074623. 3
68634074624. 4

Question Number : 56 Question Id : 68634018893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafre. sfed a3 & ddy I FEfaEd I 4 S Sy T 82

 SITEIVT IR ©ilg Ueh gaX & fauiid &

 SITEIVT 3R Sitq S+ 761 § fobwg TRad | SoRad! &1 A1 & @l $1 3U6 &
4. Sia SRV &1 Mo TG §

Options :

68634074621. 1
68634074622. 2
68634074623. 3
68634074624. 4

fa—y

[
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Question Number : 57 Question Id : 68634018894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Poona Pact was an accord between

1. Gandhi and Ambedlkar

b2

. Neluu and Patel
3. Gandhi and Neliu

4. Gandhi and Tinnah

Options :

68634074625. 1
68634074626. 2
68634074627. 3
68634074628. 4

Question Number : 57 Question Id : 68634018894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U1 gusial Fafied 3 9 fgd qe gen U

1. Tiieft SR SiesH

B SR U

T SR A8
4. TITefT SR Fora

Options :

68634074625. 1

68634074626. 2

68634074627. 3
68634074628. 4

| )

s

Question Number : 58 Question Id : 68634018895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tagore got Noble Prize for his celebrated work

1. Gora

[ )

. Anand Math

Lad

. Geetanjali

4. Godan

Options :
68634074629. 1
68634074630. 2



68634074631. 3
68634074632. 4

Question Number : 58 Question Id : 68634018895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SR 1 39 9 UG IXa® (i) & U Aiae RER e o
1. 7TRT

| )

e IS
RIS
4. 71gH

Options :

68634074629. 1
68634074630. 2
68634074631. 3
68634074632. 4

L

Question Number : 59 Question Id : 68634018896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In the categorical syllogism, the premise in which the major term appears is called

1. Minor premise
2. Major premise
3. Syllogism
4. Distribution

Options :

68634074633. 1

68634074634. 2

68634074635. 3
68634074636. 4

Question Number : 59 Question Id : 68634018896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B TR T
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Options :

68634074633. 1
68634074634. 2
68634074635. 3
68634074636. 4

Question Number : 60 Question Id : 68634018897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Abortion 1s a problem of

1. Work Ethies

(B

. Bio Ethics
3. Management Ethics
4, Professional Ethics
Options :
68634074637. 1
68634074638. 2

68634074639. 3
68634074640. 4

Question Number : 60 Question Id : 68634018897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
miura FHafeied § O fege! o g2
1. BT Al
. oia A
iy Afded

| ]
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4, SIAII® Afaadl

Options :
68634074637. 1



68634074638. 2
68634074639. 3
68634074640. 4

Question Number : 61 Question Id : 68634018898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

According to Aristotle. 'being-qua-being’ is

1. Possibility of being

b2

. Science of being
3. Impossibility of being
4. Reality of perception

Options :

68634074641. 1
68634074642. 2
68634074643. 3
68634074644. 4

Question Number : 61 Question Id : 68634018898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I D IER. W DI Al o
1. AT BT Gyl
2. AT &Ta @1 fagm

3. 3T D YAl

o

4. Td T aUTy

Options :

68634074641. 1
68634074642. 2
68634074643. 3
68634074644. 4

Question Number : 62 Question Id : 68634018899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The only Materialistic School of Indian Philosophy is

1. Jamism

[

. Nyaya
3. Samkhya

4. Charvaka

Options :

68634074645. 1
68634074646. 2
68634074647. 3
68634074648. 4

Question Number : 62 Question Id : 68634018899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR g2 &1 UhaE Hildedad: IugM §:
1. o9 Ad
2.9

3. 91
4. F1atH

Options :

68634074645. 1
68634074646. 2
68634074647. 3
68634074648. 4

Question Number : 63 Question Id : 68634018900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Republic is written by
1. Plato
2. Aristotle
3. Socrates

4, Hegel

Options :
68634074649. 1



68634074650. 2
68634074651. 3
68634074652. 4

Question Number : 63 Question Id : 68634018900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RofeTe & o9s &
1. el
2. 3]
3. B
4. B9
Options :
68634074649, 1
68634074650. 2

68634074651. 3
68634074652. 4

Question Number : 64 Question Id : 68634018901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"If the two or more instances of the phenomenon under mvestigation have only the circumstance 1s common,
the circumstance in which alone all the instances agree. is the cause(or effect) of the given phenomenon".

Which one of the following method is involved?

1. The method of Agreement

| )

. The method of Difference
3. The joint method of Agreement and Difference

4. The method of Residue

Options :

68634074653. 1
68634074654. 2
68634074655. 3
68634074656. 4

Question Number : 64 Question Id : 68634018901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634074653. 1
68634074654. 2
68634074655. 3
68634074656. 4

Question Number : 65 Question Id : 68634018902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Moving from particular to general is:
1. Deductive reasoning
2. Absurd reasoning
3. Inductive reasoning
4. Logical falling
Options :
68634074657. 1
68634074658. 2

68634074659. 3
68634074660. 4

Question Number : 65 Question Id : 68634018902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fd & g &1 3R =9

[ e T

TS ddun
. ST TH
 ATTEATHS THN
4. b AhIy

Options :

oy

| )

L



68634074657. 1
68634074658. 2
68634074659. 3
68634074660. 4

Question Number : 66 Question Id : 68634018903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 15 labelled as Assertion A and other is labelled as Reason R

Assertion A: The principle of Induction is the process of arriving at universal propositions from particular facts
of experience.

Reason R: Particular facts of experience 1s impossible.
In the light of the above statements. Choose the correct answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true and R 1s NOT the correct explanation of A
3. Ais true but R is false
4. A 1s false but R is true
Options :
68634074661. 1
68634074662. 2

68634074663. 3
68634074664. 4

Question Number : 66 Question Id : 68634018903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634074661. 1
68634074662. 2
68634074663. 3
68634074664. 4

Question Number : 67 Question Id : 68634018904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and other 1s labelled as Reason R
Assertion A: Philosophy 1s a eritical enquiry into the nature of reality.
Reason R: Philosophy is also seen as an intuitive exercise.

In the light of the above statements, Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

[ ]

. Both A and R are true and R i1s NOT the correct explanation of A
3. A s true but R 1s false

4. A is false but R is true

Options :

68634074665. 1
68634074666. 2
68634074667. 3
68634074668. 4



Question Number : 67 Question Id : 68634018904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYA AU U §, UF @Y (Assertion A) P =9 [Ed § T g8 39% BRI (Reason R) &
0T
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Options :

68634074665. 1
68634074666. 2
68634074667. 3
68634074668. 4

iy

Question Number : 68 Question Id : 68634018905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and other 1s labelled as Reason R
Assertion A: Truth is a value

Reason R: Axiology 1s defined as the science of value

In the light of the above statements, Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R 1s NOT the correct explanation of A

3. Ais true but R is falze

4, A is false but R is true

Options :

68634074669. 1
68634074670. 2
68634074671. 3
68634074672. 4

Question Number : 68 Question Id : 68634018905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl YA AU T §, U SHIUDHUA (Assertion A) P & H [H1REd ¢ Al gERT 39 BRI (Reason R) &
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Options :



68634074669. 1
68634074670. 2
68634074671. 3
68634074672. 4

Question Number : 69 Question Id : 68634018906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R
Assertion A: Pleasure 1s the only thing that is desirable.

Reason R: The only proof that a thing is desirable is the fact that people do actually seck pleasure.

In the light of the above statements, Choose the correct answer from the options given below:

1. Both A and R are true and R 1s the correct explanation of A

2. Both A and R are true and R 1s NOT the correct explanation of A

3. Ads true but R is false

4, A is false but R is true

Options :

68634074673. 1
68634074674. 2
68634074675. 3
68634074676. 4

Question Number : 69 Question Id : 68634018906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:
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4 AT RIS AFPIR TS E

Options :

68634074673. 1
68634074674. 2
68634074675. 3
68634074676. 4

Question Number : 70 Question Id : 68634018907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R
Assertion A: Rationalism holds that genuine knowledge cannot come from sense perception or experience.

Reason R: Empiricism is a system of thought which believes that there are no inborn truths and all knowledge
springs from sense perception or experience.

In the light of the above statements. Choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R is NOT the correct explanation of A

3. Ais true but R is false

4, A is false but R is true

Options :

68634074677. 1
68634074678. 2
68634074679. 3
68634074680. 4

Question Number : 70 Question Id : 68634018907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 & YA AU 0 §, UF AU (Assertion A) P &9 1 ARG & T GHR1 3% BRI (Reason R) &
g H:

HIUBY A: THGAIE D1 T8 0d ¢ o gUTd 4 Sisd Tam a1 S4a 9 76l o1 9ol ¢

HRUIR: 3AYTAIE [A9RI &1 98 TSI § orge] 1d ¢ & $is  Wa-3¢4d 9 e sial o | 3R @t
T ST S Te a1 a9 34T el o

SRI DY & HTalid 1, H1d 2y 7Y fdeedi T I 99 Sugad SR &1 99 B
1.AJRREATEI € AR R AT Tl I &

2. A SR R I U2 § 3R R. A P el e el &

. ATEI e AR IS Rl ©

L AT RIS AFPIR TS E

Options :

68634074677. 1
68634074678. 2
68634074679. 3
68634074680. 4

Question Number : 71 Question Id : 68634018908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and other 1s labelled as Reason R
Assertion A: Necessity is mother of invention
Reason R: Invention are necessary for survival of human kind

In the light of the above statements, Choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R 1s NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true



Options :

68634074681. 1
68634074682. 2
68634074683. 3
68634074684. 4

Question Number : 71 Question Id : 68634018908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 & HYA AU U §, UF @Y (Assertion A) P =9 [Ed § T g8 39% BRI (Reason R) &
0T

HfUBHYT A: HTRTHAT ATHR BT T ¢

PRI R: SHGHR WIS B JuReiiad] & 1Y AT 8id 5|

SWRIGI BYH & H1ciid H, i f3U U fdsedi T I 9 Sugad SR &1 94+ S
1. A SRR &I 98l § SIRR. A D! Ugl ARA &

| )

A 3R R S TE € SRR, AT Ut cars AT ©

ATEIEAPTIR TR E

L

4 AT TR APTIR TS B

Options :

68634074681. 1
68634074682. 2
68634074683. 3
68634074684. 4

Question Number : 72 Question Id : 68634018909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and other is labelled as Reason R
Assertion A: Vedas support ashram system of life
Reason R: Vedas also propound four Purusharthas

In the light of the above statements. Choose the correct answer from the options given below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true and R 1s NOT the correct explanation of A

3. Ais true but R is falze

4, A is false but R is true

Options :

68634074685. 1
68634074686. 2
68634074687. 3
68634074688. 4

Question Number : 72 Question Id : 68634018909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl YA AU T §, U SHIUDHUA (Assertion A) P & H [H1REd ¢ Al gERT 39 BRI (Reason R) &
U

HFUSYT A: 98 SIa- DI 3198 Ugld BT JHYH D & |

@RI R: dal 3 i IR g wlauied a1

SWRIE Y & 3Tclie H, i fu Y fdeedl § 9 968 3uged SR &1 904 SIfeT:
1. A ¥R R 3 961 € AR R, A D! T8l RS 8

2. A SRR T T E IR R A P S U= TRl §

3.ATS S Al R O el ©

4 AT TR APTIR TS B

Options :



68634074685. 1
68634074686. 2
68634074687. 3
68634074688. 4

Question Number : 73 Question Id : 68634018910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following books were authored by Dr. B. R. Ambedkar?

A. Amnihilation of Caste

B. States and Minorities

C. Emancipation of the untouchable

D. Elementary aspects of Insurgency in colonial India

Choose the correct answer from the options given below:

1L AB,C

| )

A D
JAC
4.B.D

Options :

68634074689. 1
68634074690. 2
68634074691. 3
68634074692. 4

Question Number : 73 Question Id : 68634018910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad 5 3 o 9 gidd i 6.3iR. sidsar gri fad 71g 4

A TE0YH 316 BRe

B. WY US HIZHIRSI

C. HARURHE HfE g sFcaad

D. UeilHesl Uaed 3 g-ui-41 2 Pidl—gd siad]

2 feu o fomedt § T 98 IR &1 7O i

1A, B, C
2Z.AD
3.A
4.B.D

Options :



68634074689. 1
68634074690. 2
68634074691. 3
68634074692. 4

Question Number : 74 Question Id : 68634018911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following texts by the year of their writing

A. Principia Mathematic

B. Republic

C. Tractatus logico - Philosophicus
D. Nicomachean Ethics

E. The Social contract

Choose the correct answer from the options given below:
1.LB-E-A-C-D
2.B-D-E-A-C
3B-A-E-D-C
4 A-B-D-C-E

Options :

68634074693. 1
68634074694. 2
68634074695. 3
68634074696. 4

Question Number : 74 Question Id : 68634018911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafeiad 3idl o1 37 o 9y & %A H srafyd Sife:

A. =t Ayafesr

B. Rufsis

C. ¢aeTey e -hargihed
D. Ho g ey

E. & HIYd Bicae

2 fou 7o foeedl § T 98 IR &1 9O Sife:

1.B,.EAC.D

b2

B, D EAC
3 B A BT,
4. A B.D.C.E

Options :

68634074693. 1
68634074694 2
68634074695. 3
68634074696. 4

Question Number : 75 Question Id : 68634018912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange in historical cronological order

A, Descartes
B. Plato

C. Locke

D. Spinoza
E. Leibniz

Cheose the correct answer from the opticns given below:

1.A-B-C-D-E

b2

.D-A-E-C-B
3. B-A-D-C-E
4 B-E-A-D-C

Options :

68634074697. 1
68634074698. 2
68634074699. 3
68634074700. 4



Question Number : 75 Question Id : 68634018912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

eI HIehH H sgafeyd Sife:

A SHIC
B. Wil
C. did
D. U1
E. dig-o

2 feu o fowedl H T 98 IR &1 50 S

1LA;B,C,D. E

|

.D,A.E.C.B
3BAD.C.E
4.B.E.AD.C

Options :

68634074697. 1
68634074698. 2
68634074699. 3
68634074700. 4

Question Number : 76 Question Id : 68634018913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronology

A R.N. Tagore
B. M.K. Gandhi
C. Jyotiba Phule
D. Amartya Sen
E. B.R. Ambedkar

Choose the correct answer from the options given below:

1.LA-C-D-B-E

[ ]

A-B-C-D-E
JJC-A-B-E-D
4 E-D-A-B-C

Options :

68634074701. 1

68634074702. 2
68634074703. 3



68634074704. 4

Question Number : 76 Question Id : 68634018913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafead & SrAapHATER FaRyd I

A IR, T, TR
B. UH. &, T

C. Sgicar B

D. A 9

E. dl. 3R, 3dSHR

I feu U fawedl § © O3 ST &1 994 Fifen:

1.AC,D, B, E
20808 Dy R
3.C,A.B.E.D
4. EBE.D.A B, C

Options :

68634074701. 1
68634074702. 2
68634074703. 3
68634074704. 4

Question Number : 77 Question Id : 68634018914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are true with regards to early Wittgenstein?

A. The meaning of a word is the object for which it stands

B. Words are basically names

C. The world is made up of objects. and the relation between objects form facts
D. Facts are independent of language

Choose the corect answer from the options given below:

1.A.B & C only

[ ]

A & C only
3.A.C&Donly
4.A.B.C &D

Options :

68634074705. 1
68634074706. 2



68634074707. 3
68634074708. 4

Question Number : 77 Question Id : 68634018914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faeTerE & uRfe o & Yol § e d e sR I sy sl &
A, Tl wreg o1 31 39 a%g ¥ © Iored 39T S sl ¢
B. Y% Tad: TH A & :
C. TTeg a&g 3l ¥ &7 84 ©. 3R a¥g3ll & 0oy Hey q] B T B § |
D. % U9 J e B & |

- Gy U famedl § © 9e1 STk &1 99 S
1. $ad A, B AR C

HAAASRC

3. %ad A, C 3R D

4. PGAA.B.C 3R D

| ]

Options :

68634074705. 1
68634074706. 2
68634074707. 3
68634074708. 4

Question Number : 78 Question Id : 68634018915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronology

A, Cartesianism

B. Post modernism

C. Zeno paradox

D. Utilitarianism

E. Skepticism (Hume)

Cheose the correct answer from the opticns given below:
1.C-A-E-D-B
2A-C-D-B-E
JE-A-C-D-B
4 C-A-D-B-E

Options :



68634074709. 1
68634074710. 2
68634074711. 3
68634074712. 4

Question Number : 78 Question Id : 68634018915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fAfeRad oI PIOTIR Hafeyd BT
A. 335 ﬁa [+

B. 3N HTYHHdEg
C. ST faRTeTHTE

D. SHgIFIdmarg

E. Udlg

2 feu 7o fowedl H T 98 IR &1 98 Sife

1.C,A.E.D,B

b2

AT Dy BB
5B ACDEB
4. C.A.D.B.E

Options :

68634074709. 1
68634074710. 2
68634074711. 3
68634074712. 4

Question Number : 79 Question Id : 68634018916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in the order according to Aristotle's theory of causality

A, Final cause

B. Material cause
C. Efficient cause
D. Formal cause

Cheose the correct answer from the opticns given below:
1.B-C-D-A
2.C-B-A-D
3. B-D-C-A

4.D-C-B-A



Options :

68634074713. 1
68634074714. 2
68634074715. 3
68634074716. 4

Question Number : 79 Question Id : 68634018916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3RE & PUBRY Hgid P IR FEftiEd o1 s ed I safd i

A A BRO

B. TIRP PRI
c. A sR
D. HTHTRD BRI

i fRu T foweal © O Ot o o A Fife

[ ElIE P2 B b

| )

.C.B.A.D
3.8 I C.A
4.D,C.B.A

Options :

68634074713. 1
68634074714.2
68634074715. 3
68634074716. 4

Question Number : 80 Question Id : 68634018917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: According to Nyaya school. knowledge is produced in the soul when it comes directly into
contact with the five external sense organs.

Statement II: According to Nyaya school, knowledge 1s an adventitious property of the soul.
In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II is false

4, Statement [ is false but Statement II is true

Options :

68634074717. 1
68634074718. 2
68634074719. 3
68634074720. 4

Question Number : 80 Question Id : 68634018917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3l By fGU U
HYF 1: 1A Hd P SFIR I od U dTel FH-531 & Uede Wueh 3 Sl &, dl U8 Sl H 3edd eldl 6|

SYT IL: 10 Hd & IR JH ST 1 NS 912
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1, BYT 1 AR 11 ST T &

2 HYTI AR SHT T S
3. PYT1 I ©. AfchT HUF 11 39 ©
4. YT HGA L. AfpT YT 1 I ©

Options :
68634074717. 1



68634074718. 2
68634074719. 3
68634074720. 4

Question Number : 81 Question Id : 68634018918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: For Plato the meaning of the word 'Justice' 1s basically a conception in the mind only.
Statement II: For Plato the meaning of the word 'Tustice' is fixed. mind-independently
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II is false

4. Statement [ 1s false but Statement II is true

Options :

68634074721. 1
68634074722. 2
68634074723. 3
68634074724. 4

Question Number : 81 Question Id : 68634018918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁaaﬁﬁ’iﬁﬁqm%

HY I Tcl & (o0 1T T3 BT 1R Tod: Sad 74 1 UF T 5|

FYF I1: Wil & [0 =19 e &1 S 099 § Wod =9 9 Fia siar g
SWRIFd BYF & 3l H, A1 4T T f[ddbedi & I Hel Gov &1 99 Difoie:
1. FUA IR IS T
2. BYF1 R 11T A T
3. BYT 1A &, AP FUA 11 3T ¢

4 PYTI IS, AT DT I T B

Options :

68634074721. 1
68634074722.2
68634074723. 3
68634074724. 4

Question Number : 82 Question Id : 68634018919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Nai Taleem 1s advocated by Radhakrishnan

Statement II: Nai Taleem advocates the education of mind. body and spirit.

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II is false

4, Statement [ 1s false but Statement II is true

Options :

68634074725. 1
68634074726. 2
68634074727. 3



68634074728. 4

Question Number : 82 Question Id : 68634018919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gy fRRumuE:

®Y I AUPUH GRI g diciiy ol g9 foar a1 g1

HY I1: 75 aldil I3, TRIR Td 3T Dl (R4 Pl UeeR ¢ |

SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:
1. FYF RIS T &

HYA IR I ST ST §

HYT I g . AT YT I 3T o

[B]

Laa

4. YT I 8, Ao YT T &

Options :

68634074725. 1
68634074726. 2
68634074727. 3
68634074728. 4

Question Number : 83 Question Id : 68634018920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:
Statement I: Knowledge is justified true belief
Statement II: Knowledge is virtue

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement II is false

4, Statement [ 1s false but Statement II is true

Options :

68634074729. 1
68634074730. 2
68634074731. 3
68634074732. 4

Question Number : 83 Question Id : 68634018920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS sy RRumuE:
HYF 1: I = (YN (YR & FEfod Sar g

®YT I1: T G50l 5|
SWRIGd HUA & AP H, A S0 0 [dFedi 5§ I Tel A &1 994 DIIG:

1. PYTI RN ST T E
FHYF1 AR I EHT T &

DY 19 ¢, Afthd BUT 11 3T §

b2

Laa

PYT TS, AT PYT I A’

=y

Options :

68634074729. 1
68634074730. 2
68634074731. 3



68634074732. 4

Question Number : 84 Question Id : 68634018921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Locke maintains that mind is a tabula rasa
Statement II: Locke is a rationalist philosopher

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false

4, Statement I 1s false but Statement IT is true

Options :

68634074733. 1
68634074734.2
68634074735. 3
68634074736. 4

Question Number : 84 Question Id : 68634018921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIEAEIEEUR

HYF I: T BT A & [ 179 0P BRI U1l

HYF IL: TP gGars aRi-d 5|

SWRIFd BYF & 3l H, A1 4T T f[ddbedi & I Hel Gov &1 99 Difoie:
1. FUA IR IS T
2. BYF1 R 11T A T
3. BYT 1A &, AP FUA 11 3T ¢

4 PYTI IS, AT DT I T B

Options :

68634074733. 1
68634074734.2
68634074735. 3
68634074736. 4

Question Number : 85 Question Id : 68634018922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: According to Nyaya philosophy verbal testimony (sabda) is of two types: Vaidika and Laukika

Statement II: The power of the word to convey its meaning comes from long established convention according
to ancient Nyaya and from God, according to Navya-Nyaya (later Nyaya)

In the light of the above statements. choose the correct answer from the options given below
1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false

3. Statement I 1s true but Statement IT 1s false

4, Statement [ is false but Statement II is true

Options :

68634074737. 1
68634074738. 2
68634074739. 3
68634074740. 4

Question Number : 85 Question Id : 68634018922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬂ%aﬁﬂﬁﬁﬁwﬁ'
HYF 1 19 &2 & SHR s YA (Tew), dfed 3R Afard & TR S 8id g

FYFIL THH-AO S A & 2 MY DI dd B DI s Ui de JHG I RIUT giRaret
(F¢h T YT To0-1 & SR T4 U 31l 5

IR FYA & JAdld |, Aid feu v fdsedi 4 T Ut IR &1 99 HIoI:
1. PYTI AR SAT T &
2 HYF1 R ST A S

3. PUTI T . AT SYT I HFT ©

4 PYTI IS, AT P I T B

Options :

68634074737. 1
68634074738. 2
68634074739. 3
68634074740. 4

Question Number : 86 Question Id : 68634018923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Feminism stands for the concern with the status and role of women in society in relation to men.
Statement II: Feminism implies the advocacy of equal rights for women and men

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I 1s true but Statement II 1s false

4. Statement [ 15 false but Statement II is true

Options :

68634074741. 1
68634074742. 2
68634074743. 3
68634074744. 4

Question Number : 86 Question Id : 68634018923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIEAEIEEUR
HYF I ARG BT TR TS § G 31 gaq1 § Afeansd #1 fufd ud yfie 3 el g
HYF II: TRIar] Risia ¥ afgarsi td gyl & oy 90[ SiUeRI &1 gaera Higd 8
SWRIFd BYF & 3l H, A1 4T T f[ddbedi & I Hel Gov &1 99 Difoie:

1. FUA IR IS T

2. BYA AR A ST §

3. BYT 1A &, AP FUA 11 3T ¢

4 BYT TS, AP T PYT I I &

Options :

68634074741. 1
68634074742.2
68634074743. 3
68634074744. 4

Question Number : 87 Question Id : 68634018924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is written by Amartya Sen

A. Wings on fire

B. Swaraj

C. Argumentative India
D. Indian Ideology

E. India Wins Freedom

Choose the correct answer from the options given below:

1. C only

[ ]

. E only
3. D only
4. A only

Options :

68634074745. 1
68634074746. 2
68634074747. 3
68634074748. 4

Question Number : 87 Question Id : 68634018924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

[rafeied O 9 o O giad s/mel 39 gRI ol 715 g2
A, a7 319 BIR
B. IR
CI s I L9
D. Sfeu4 msfsaraisi
E. sfeur fag wieH
2 feu o fowedt § T 98 IR &1 TU S
1. &dd C
2. Had E
3. Had D
4. Pad A

Options :

68634074745. 1
68634074746. 2
68634074747. 3
68634074748. 4

Question Number : 88 Question Id : 68634018925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is closer to Kantian Deontology

A. Duty for Nation

B. Duty for Society

C. Duty for Duty sake
D. Duty for Organisation
E. Duty for Good

Choose the correct answer from the options given below:

1. C only

[ )

. A only

%]

. E only
4. B only

Options :

68634074749. 1
68634074750. 2
68634074751. 3
68634074752. 4



Question Number : 88 Question Id : 68634018925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefad ¥ O oH ol & HdauRd & Hde g2

A. 1Y & fd Peioy e

B. JHTS & Ufd e ura-

C. Bd (ded &1 YIa-1 ¥ oo Ura—
D. T3 & Uid Saeg g1aa

E. Y & [T Pdod g1a

i fau Y fased! ¥ ¥ 951 STk &1 907 Bl
1. $adC
2. had A
3. BAUE
4. Had B

Options :

68634074749. 1
68634074750. 2
68634074751. 3
68634074752. 4

Question Number : 89 Question Id : 68634018926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is not the Noble Truth (Arya Satya) according to Buddhism
A. There is suffering
B. There is a transcendental cause of suffering
C. There is cessation of suffering

D. There is a way leading to this cessation of suffering
E. There is a cause of suffering

Choose the correct answer from the options given below:
1. C only
2. B only
3. Aonly
4. D only

Options :
68634074753. 1



68634074754. 2
68634074755.3
68634074756. 4

Question Number : 89 Question Id : 68634018926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F1G Ad & SFAER Fafaiad 3 9 omd 9 &F 978 87

AGEE )
B. §:® D1 Siedrdiid HRUTE
C.gE T e

D.GE TSI ATPITH AN §
E. 9 H1 IR0 §

2 fou 7o foeedl § T 98 IR &1 9O Sife:
1.ad C
2. Had B
3. Had A
4. HadD

Options :

68634074753. 1
68634074754. 2
68634074755. 3
68634074756. 4

Question Number : 90 Question Id : 68634018927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following theme is not associated with applied ethics

A. Capital punishment
B. Surrogacy

C. Psychology

D. Euthanasia

E. Capital Punishment

Choose the correct answer from the options given below:

1. A only

[ ]

. D only
3. B only
4. C only

Options :

68634074757. 1
68634074758. 2
68634074759. 3
68634074760. 4

Question Number : 90 Question Id : 68634018927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafeaa ¥ 9 oF ar favg soggiie Hifdene ¥ dag gl &2

A LS
B. TR

C. gAae=
D. gOHY

=i T T fased! # 4 I8l SR 1 907 BifvT:
1. $ad A
2. Had D
3. $ad B
4.Pad C

Options :

68634074757. 1
68634074758. 2
68634074759. 3
68634074760. 4




Question Number : 91 Question Id : 68634018928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not Purushartha

A. Moksha
B. Kama
C. Yajna
D. Artha
E. Dharma

Choose the correct answer from the options given below:

1. Aonly
2. B only
3. C only
4. D only

Options :

68634074761. 1

68634074762. 2

68634074763. 3
68634074764. 4

Question Number : 91 Question Id : 68634018928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frofafaa d I oH o e T2 @

A HIY
B. &M

C. 43l
D. 3
E. ¢H
2 fou 7o foeedl § T 98 IR &1 9O Sife:
1. Had A
$Hdd B
3.0 C

4. Had D

Options :
68634074761. 1
68634074762. 2

[ )



68634074763. 3
68634074764. 4

Question Number : 92 Question Id : 68634018929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not associated with modern philosophy

A, Francis Bacon

B. Franciscan Schoolmen
C. Leibniz

D. Descartes

E. Neitzsche

Choose the correct answer from the options given below:

1. B only
2. Aonly
3. E only
4.C & D only

Options :

68634074765. 1

68634074766. 2

68634074767. 3
68634074768. 4

Question Number : 92 Question Id : 68634018929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafad 9 311 snye cxHere 3 Jas T 82
A. TifEE g6
B. Wi THeri
C. e
D. S®IC
E. A&
e féu T fowed! © © 931 3R @1 994 @i
1. Had B
Phad A
3.PAUE

4.%aA C IR D

[ )



Options :

68634074765. 1
68634074766. 2
68634074767. 3
68634074768. 4

Question Number : 93 Question Id : 68634018930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not associated with Pre Socratic

A. Heraclitus
B. Parmenides
C. Anstotle
D. Pythagoras
E. Protagoras

Choose the correct answer from the options given below:

1.D & E only

| )

. C only
3. B only
4. A& B only

Options :

68634074769. 1
68634074770. 2
68634074771. 3
68634074772. 4

Question Number : 93 Question Id : 68634018930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FrAfREd & 9 1 g0-g&Hnid ¥ 969G 7ol o7
A, efadey
B. gH SIS
C. &
D. UIEUNTRY
E. WIeTiRY
2 fou 7o foeedl § T 98 IR &1 9O Sife:
1. Hdd D IR E
. Had C
3. %dd B

4. Had A IR B

Options :

68634074769. 1
68634074770. 2
68634074771. 3
68634074772. 4

[ )

Question Number : 94 Question Id : 68634018931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Moods and Figure Latin Name
A JAAAT . BARBARA
B. [EAE-I II. JCELARENT
C. |AILI [T [DARTI
D. [EIO-I IV. [FERIO

Choose the correct answer from the options given below:

1. A-L. B-II. C-III, D-IV

2. A-IL B-III. C-IV. D-I

3. A-III B-IV, C-I, D-II

4. A-IT. B-IV, C-I, D-III

Options :

68634074773. 1
68634074774. 2
68634074775. 3
68634074776. 4

Question Number : 94 Question Id : 68634018931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

el 1 T
qSH U9 3MPid dfe=
A JaaaT 1 [§Raw
B. [EAEI 1L [GaR=<
C. |a1r1 111 GRS
D. [EI0-I V. [Gi]
frrafeiead faseal © I TEl IR @1 99 S -

1. A-I. B-II, C-III, D-IV

2. A-IT, B-IIIL, C-IV, D-I

3. A-IILL B-IV. C-I. D-II

4. A-IL. B-IV, C-1, D-III

Options :

68634074773. 1
68634074774. 2
68634074775. 3
68634074776. 4

Question Number : 95 Question Id : 68634018932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
[dealism I. |Descartes
R ationalism II. PMarx

Empircism II1. [Plato
Materialism IV. [Locke

N REE

Choose the correct answer from the options given below:

1. A-I. B-IV. C-II. D-III
2. AL B-IIL, C-IV. D-I
3. A-IIIL B-1. C-IV. D-1I
4. A-TV. B-11, C-111. D-I

Options :

68634074777. 1

68634074778. 2

68634074779. 3
68634074780. 4

Question Number : 95 Question Id : 68634018932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
TqAT T T I
A |smEzEr 1L [S@re
B [fhgigae |10 =
C |orEae | e
D. [vifd®arg V. [dide
fAafaRad foweal & O Ot SO &1 994 Difog -

1. A-L. B-IV. C-I1, D-III

|

. A-ILL B-III. C-IV, D-1
3. A-III, B-1. C-IV. D-II
4. A-IV. B-1I., C-I11. D-I

Options :

68634074777. 1
68634074778. 2
68634074779. 3
68634074780. 4



Question Number : 96 Question Id : 68634018933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A [Jainism I. |Padartha
B. |Buddhism II. |Svadvada
C. |Samkhya III. |Pratitvazamutpada
D. [Vaishesika IV, JPurusa and Prakrts)

Choose the correct answer from the options given below:

1. A-IL. B-ITI, C-IV. D-I

2. A-L. B-11, C-IIL. D-IV

3. A-TV. B-TII. C-I1, D-I

4. A-II1, B-IV. C-I. D-II

Options :

68634074781. 1
68634074782. 2
68634074783. 3
68634074784. 4

Question Number : 96 Question Id : 68634018933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey
T 11
I [gard

g Ad 1. [sarearg

RIS I [Aci g dg
. [3=Tt® IV. [I59 3R US|

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-II. B-ITI. C-IV. D-I

Tt 1
EEEG

ofofw]s

2. A-L. B-I1. C-III. D-IV

3. A-TV, B-TII. C-I1, D-I

4, A-IIIL B-IV, C-I, D-II

Options :

68634074781. 1
68634074782. 2
68634074783. 3
68634074784. 4

Question Number : 97 Question Id : 68634018934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Major term 1. |The predicate term of conclusion
Minor term II. |The subject term of conclusion

MMajor promise | II1. [The premise containing the major term

e

Middle term IV |The term that appears to both premises but not in conclusion

Choose the correct answer from the options given below:

1. A-L. B-II. C-III. D-IV

| E)

. A-IL B-III. C-IV. D-1
3. A-III, B-IV, C-I, D-II
4. A-IV. B-1I, C-I11, D-I

Options :



68634074785. 1
68634074786. 2
68634074787. 3
68634074788. 4

Question Number : 97 Question Id : 68634018934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

Tt 1 T II
R L [y ¥ fqeg U
o3l U | 1L [F5h o 3584 UG
[ STH aTad| 1L [ U Jod SYE dlad
. |68 UG Sl gHf YR aregl | 311 ¢ fareg

ik V" e 8 7
fafaRad faeedl T 1 981 3R &1 99 BIfoll :

1. A-I. B-II, C-III, D-IV

o [aofw]»

[ ]

CA-IL B-II1. C-IV, D-1
3. A-IILL B-1IV. C-I. D-II
4. A-IV, B-I1. C-1I1, D-I

Options :

68634074785. 1
68634074786. 2
68634074787. 3
68634074788. 4

Question Number : 98 Question Id : 68634018935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
A |Vaisesika 1. |Brhaspati
B. |Charvaka 1. [Kanada
C. [Nyava III. [Shankara
D. [Vedanta IV. |Gotama

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV, D-III

2. A-LB-I1, C-II1. D-IV

3. A-IV. B-III. C-1. D-II

4. A-I1. B-1. C-IV. D-II

Options :

68634074789. 1
68634074790. 2
68634074791. 3
68634074792. 4

Question Number : 98 Question Id : 68634018935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

Tt 1 T
A [d9It® 1 [gg9id
B. [gdi® 1. [@une
C. [ 111 [RidY
D. [daid IV. fIia9
frafead [deedl O I 98l SR &1 99 Sl :

1. A-II. B-I1. C-IV, D-III

2. A-L. B-I1. C-III. D-IV

3. A-IV, B-TII. C-I. D-IT

4, A-II1. B-1. C-IV. D-II

Options :

68634074789. 1
68634074790. 2
68634074791. 3
68634074792. 4

Question Number : 99 Question Id : 68634018936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II
A |Gandhi [. JAnnihilation of Castes
B. [BE. Ambedkar II. [Discovery of India
C. [Nehmu 111 [The story of my experiments with the truth
D. [Abdul Kalam Azad| IV. [India wins freedom

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV, D-III

| ]

CA-IL B-III, C-I1. D-IV
3. A-IIL. B-1, C-II. D-IV
4. A-IV. B-11I. C-I1, D-I

Options :

68634074793. 1
68634074794. 2
68634074795. 3
68634074796. 4

Question Number : 99 Question Id : 68634018936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife

TqaT 1 Tt 1
i L [ofgciEH P Bley
S AR SfgsHy | 11 [[E5madl o stea
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1. A-IL. B-I1. C-IV, D-III

ofofw>

| ]

. A-I B-III. C-II. D-IV
3. A-IIL, B-1. C-II, D-IV
4. A-IV. B-1II. C-II. D-1

Options :

68634074793. 1
68634074794. 2
68634074795. 3
68634074796. 4



Question Number : 100 Question Id : 68634018937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST IT
A |Hobbes 1. Meditations
B. |Descartes II. |Das Capital
C. Marx III. |Tractatus Politicus
D._ [Spinoza IV [Leviathan

Choose the correct answer from the options given below:

1. A-I. B-I'V, C-III. D-II

| )

A-IV, B-I, C-I1, D-II1
3. A-IIT, B-IV. C-I1, D-I
4. A-IL. B-1. C-IV, D-III

Options :

68634074797. 1
68634074798. 2
68634074799. 3
68634074800. 4

Question Number : 100 Question Id : 68634018937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen
T I Tt 1T
A [gTlem 1 [{feesg
B. [®IC 1. [a19 dited
C. [ 111 [eqeTed uifcie Ty
D. [REAT 1V [eifgany=
frafafad fapeal & 9 9et STk &1 98- DI -

1. A-I. B-I'V. C-III. D-II

|

. A-TV, B-L, C-I1, D-IT1
3. A-IIL B-IV. C-I1. D-I
4. A-IT, B-1. C-IV. D-III

Options :

68634074797. 1

68634074798. 2
68634074799. 3



68634074800. 4



